Place	School	Total Entries	Counted Entries*	Average	Total
1	Kiowa County High School	16	16	22	352
2	Sylvan-Lucas Unified	15	15	18.47	277
3	Flinthills High School	13	13	20.38	265
4	Pretty Prairie HS	16	16	15.56	249
5	Meade High School	8	8	20.75	166
6	South Gray High School	8	8	18.12	145
7	Ingalls HS	6	6	18	108
8	Natoma High School	5	5	20.6	103
9	Cunningham High School	7	7	12.29	86
10	Wallace County High School	5	5	15.6	78
11	Hanover High School	5	5	12.8	64
12	South Central High School	4	4	15	60
13	South Barber High School	2	2	28.5	57
14	Western Plains	5	5	10.4	52
15	Kinsley High School	4	4	10	40
16	Hodgeman County HS	2	2	15.5	31
17	Wakefield High School	2	2	14	28
T18	Golden Plains High School	3	3	8.67	26
T18	Fairfield-Langdon	4	4	6.5	26
20	Little River High School	1	1	25	25
21	St. John-Hudson	2	2	10	20
22	Peabody-Burns	2	2	8	16
23	Minneola High School	1	1	13	13
24	Marmaton Valley HS	1	1	7	7
25	Norwich High School	1	1	5	5
26	Altoona-Midway High School	1	1	4	4
27	Northern Valley High School	1	1	3	3

Duet Acting

Place	Code	School
1	Keeli Knobbe & Jaden Huehl	Sylvan-Lucas Unified
2	Dayton Couse & Ray Decker	Sylvan-Lucas Unified
3	Madilyn Schaffer & Sandra Teichroeb	South Gray
4	Tory Maris & Sarah Hardy	South Central HS
5	Morgan Holcomb & Cael Sorum	<u>Flinthills</u>
6	Tessa Ediger & Tobias Jesseph	<u>Little River</u>

Extemp

Place	Code	School
1	Taylor Koehn	South Gray
2	Laura Scribner	<u>Flinthills</u>
3	Carlee Flax	Western Plains
4	Kyler Sheldon	Kiowa County
5	Keelan Stucky	Pretty Prairie

Humorous Solo Acting

Place	Code	School
1	Raylyn Paget	<u>Natoma</u>
2	Copper Collins	Pretty Prairie HS
3	Keeli Knobbe	Sylvan-Lucas Unified
4	Holly Ort	Hodgeman County HS
5	Drayton Pletcher	Wallace County
6	Valden Dohl	Sylvan-Lucas Unified

Impromptu

Place	Code	School
1	Jaden Huehl	Sylvan-Lucas Unified
2	Nathaniel Enfield	Kiowa County
3	Lily Ritter	<u>Meade</u>
4	Kiley Whipple	<u>Ingalls HS</u>
5	Benjamin Meador	<u>Ingalls HS</u>
6	Jace Merhoff	Kiowa County

Improvised Duet Acting

Place	Code	School
1	Porsha Binning & Ruston Erikson	South Barber
2	Malachi Meador & Benjamin Meador	<u>Ingalls HS</u>
3	Dayton Couse & Ray Decker	Sylvan-Lucas Unified
4	Morgan Holcomb & Cael Sorum	<u>Flinthills</u>
5	Gracyn Cotterill & Raylyn Paget	<u>Natoma</u>
6	Sydney Sorum & Kolton Stanfield	<u>Flinthills</u>

Informative

Place	Code	School
1	Kaylee Johnson	Sylvan-Lucas Unified
2	Ashton Reh	Kiowa County
3	Tristan England	Pretty Prairie HS
4	Emily Flowers	<u>Meade</u>
5	Taylor Koehn	South Gray
6	Nathaniel Enfield	Kiowa County

Oration

Place	Code	School
1	Ellery McMurry	Kiowa County
2	Savannah McCreight	<u>Flinthills</u>
3	Allison Kirby	Kiowa County
4	Alexis Hatvick	<u>Flinthills</u>
5	Michala Goff	<u>Meade</u>
6	Jace Merhoff	Kiowa County

Poetry

Place	Code	School
1	Savannah McCreight	<u>Flinthills</u>
2	Kaily Gilman	<u>Flinthills</u>
3	Jaucilyn Arredondo	Kiowa County
4	Ashton Reh	Kiowa County
5	Ellery McMurry	Kiowa County
6	Alayna McGuire	Cunningham

Prose

Place	Code	School
1	Gabrielle Unruh	Pretty Prairie HS
2	Ander Briscoe	South Gray
3	Caleb Howard	<u>Meade</u>
4	Hailey Ellis	<u>Meade</u>
5	Alayna McGuire	<u>Cunningham</u>
6	Nevaeh Copenhaver	<u>Wakefield</u>

Serious Solo Acting

Place	Code	School
1	Gracyn Cotterill	<u>Natoma</u>
2	Porsha Binning	South Barber
3	Journey Gibbs	Wallace County
4	Rylee Ott	Kiowa County
5	Grace Webster	Pretty Prairie HS
6	Natalie Dale	South Central HS